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Ne° USP Grupo T T2 T3 T4 T5 T6 T7 T8 T9 T10 MT SC1 SC2 SC3 $ SC TF P1 P2 MF Freq |

8759283 06 | 09 | 1,0 | 10|10/ 08 kS 10 04 105 182|100 |100[95| 07| 95 | 80 | 88 | 84 | 86 | 88%
10199745 B0 | 10 | 08 | 10 10 10 kS B0 06 | 051 90| 100 95[95|03| 90 | 87 | 62 | 50 94%
8676350 4 | 10 10 kS 0|10 5,0 | 100| 85 | 95| 09| 93 | 1,0 | 89 70%
8992749 10 10 |0 n L 4,7 | 100 | 100| 95| o7 | 95 | 30 | 89 88%
8630561 1 0,0 0,0 | 1,0 6%
5433468 - s S W] % ] % 162|100 85 |75]| 04| 80 | 45
8042381 g | MO | 10 | 09 ] 1.0 1101 09 kS 101 08 | 08 194|100 95|90 10| 95 | 87
8042203 0 | 10| 10 10 10 1 09] 08 kS 01 05 | 09 191 | 100|100[95]| 07| 95 | 73
8587688 8 1.0 o 1.0 04 1 07 140|100 95|90 10| 95 | 55
7209565 2 | WO | 10 |07 ] 10 1101 10 07 06 | 981 78 | 100 80 |95| 05| 87 | 75 | 55 | 3,8 | 6,7 | 38%
8587650 0| 09 | 10 | 10 |10 08 10 |10 05 105191100 85 |75|04a| 80 | 68 | 80 | 85 | 81 | 81%
8586760 10| 10| 10 109 1,0 kS kS 6,8 | 100| 95 | 95| 03| 90 | 38 | 90 | 6,0 | 6,9 | 75%
7210341 10 | 10 1.0 3,0 | 100| 75 |75]| 07| 80 | 30 | 65 | 45 | 50 | 88%
5893927 10 1.0 o 07 2,5 | 100 | 100| 95| 07| 95 | 1,0 | 65 3,9 | 56%
8758900 4 10 |10 1,0 3,0 | 100| 85| 95| 09| 93 | 30 | 80 | 80 | 6,3 | 70%
7206371 | % W0 ] % 182|100 90 [10,0] 08 | 95 | 63 | 81%
8041456 o | W] %0 10811010 ) 10 W0 10 195 98| 100| 90 [100| 0z | 95 | 68 | 100%
8042075 2 | WO | 10 ] 091 1.0 1081 10 kS 101 10 187|100 80|95|05]| 87 | 69 88%
8041327 4 | 10| 10 1091 1.0 1101 10 o 101 08 | 07 | 86 | 100| 85|95 00| 93 | 58 100%
7631229 g | ®5 | 07 | 091 10 o kS kS 6,0 | 100| 95| 90| 10| 95 | 1,0 75%
9480420 2 | B0 | 09 | 08 ] 10110 10 kS B0 10 1 07 94 | 100| 80 |95 05| 87 | 9,0 94%
8583691 - W W v 6,6 | 100| 75 | 75| o7 | 80 | 37 70%
7158659 s | M0 voprege - 4,0 | 100 | 95 (90| 10| 95 | 38 75%
8586857 o | B0 | 10 | 1,0} 1.0 1081 10 kS 10 10 | 10 1 99 | 100 | 90 [10,0] 08 [ 95 | 8,0 81%
5696062 1.0 o or |10 3,5 04 | 04 | 1,0 75%
8494604 10 0N 0 [ROSRENO 10 06 65|10 80 | 95| 05| 87 | 68 75%
9023047 09 | 1.0 | 101 10 kS kS 59 |100]| 75 | 75| 07| 80 | 3,0 88%
5950483 1 1.0 kS 2,0 | 00| 75 | 95| 06 | 87 | 1,0 13%
4318300 A e | | o o 6,8 | 100 | 75 | 95| o6 | 87 | 38 | 70%
9480830 6 R R R R kS 101 04 | 08 1 84 | 100]| 70 50| 02| 63 | 55 88%
8587712 | @ 1.0 o o 4,4 | 100 | 85 | 75| 04 | 80 | 1,0 25%
8586732 kS 1.0 kS kS 4,0 | 100 | 75 | 75| o7 | 80 | 1,0 70%
8630602 10 1o uo) tojesio o7 6,6 | 100 75 | 95| 06| 87 | 85 | 75 | 80 | 6,8 | 75%
7963612 B0 | 10 | 10 | 10 |10 08 kS 101 05 | 041 87| 10085 |75| 04| 80 | 48 | 51 78 | 6,9 | 81%
8042401 05| 05 | 08 10104 10 06 |10 06 | 10 | 74 95 | 95| 03| 70 | 62 | 90 | 78 | 7,5 | 63%
8583214 o | B0 | 10 | 1,0} 1.0 1081 10 10 1097 08 | 05192 100 90 |[10,0| 08 | 9,56 | 60 | 68 | 80 | 7,9 | 100%
8587667 1 | W0 09 | 1.0 | 101 10 09 |07 09 | 05| 78| 100 75 |95| 06| 87 | 57 | 7,0 7,7 | 81%
9378418 0,0 0,0 | 1,0 0,2 | o%
8993650 6 | M0 10 081009 10 S 7,6 | 100 | 70 | 50| 02 | 63 | 34 | 9,0 72 | 94%
5255824 6 | O7 | 10 | 09 ] 101081 10 55| 100| 70 | 50| 02 | 63 | 3,7 65 | 6,4 | 88%
6850538 6 | MO | 07 | 10 ] 101071 10 54 | 100| 70 | 50| 02| 63 | 25 | 76 | 6,0 | 56 | 56%
7630281 0 | 07 | 09 |08 10| 07] 08 kS 5,9 | 100 | 100| 95| 07 | 95 | 29 83 | 7,2 | 19%
7211273 H 1.0 10 2,0 00 | 10 | 75 | 88 | 3,9 | 25%
10199731 4 | 10| 09 | 09 | 10 |09]| 10 0,9 10| 05 10 | 91| 100]| 85 | 95| 09 | 9,3 7,7 6,3 7,4 8,0 | 100%

MT = T1+T2+T3+T4+....+T10

TF = projeto cervejaria

SC = Trabalho sobre Smart Cities

$ = Acréscimo de Nota associada aos Investimentos

SC = SC1*0,2+SC2*0,3+SC3*0,4 + $

MF = MTn*0,2+SC*0,2 +TF*0,2+P1*0,2+P2*0,2




